FHER

S10NPOId WSISAS B~

BBZAT—Y / T—7T WY1 X 40%X40, 50%50
Motorized Vertical Linear Stages / Table Size 40x40, 50x50

lelsnpuj

@
5 B
g
T
X 5
%X
=~y B
Y om
2
£
8
4
NI =
2
[
2 ZAO4A-W1 ZAO5A-W1 ZAO5A-W2C
[}
[¢)
28
%. @ ZA04A-W1 @ ZA05A-W2C
=1
2 (93) (115)
= % 40 (53) (40.5) 245 50
® ~ 30 20
B L 24 e
= g 13 24
7 ]
N2
§E7J olol < mL l o f \ < ol o
SARCIRS RS ER j K :/ N| | O
E g %\’e‘ = : 9 o
2 4-M3 Depth 4 I e\l - Sl
2 epth 4amm M ~
i 82 Depth 4mm m | i \W ] 8
> Z
E . CW - Limit Sensor 120 4-M2 Depth 4mm
2 Tcw 0 (o ¢ Ok 4-M3 Depth 6mm
N o H
1 e d e ey
Y CCW T T T B
> I I1 -
3 LoT 50 CCW - Limit Sensor Home Position
- CW - Limit Sensor \ CCW:Limit Sensor
9 A
L cw 0
: T b s == I ;
ol o ol o i) ,J @it @, | o
™l ™ © ® © ) lCCW { o eCT L. ™
L f% Back Side 4-for M3 screws / 40
4-for M3 screws 30 Shaft lemgth 2mm
32 BEERS ((FE&) TORIMIFERET,

Mounting by low head screw (attachment)

193
=
3
=
-

@ ZA05A-W1 60.5
50
40
30
24
< B ‘13
Q >< 7
2z 120 B
§ A 5|
» T ° ) 41‘
gL =1 9l %/ 828 ={etfgt
© o & %
mo | ; — — 1 2 o ;
2o
Q -
g 3 = (103.5) 8-M2 Depth 5mm
3T F
ol 4-M3 Depth 5mm

CCW Limit Sensor 4-M3 Depth 3.5mm

Home Position

CW Limit Sensor

Tou
l cow

S81I0SS800Y
— RN

56+4

g3l
1 '§ g 4-for M3 screws [Ja0 ‘ ©
3 E A Shaft Length 3mm
= or
I
I-006  CcONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL]http://www.kohzuprecision.com



PR/ 9OR0-FHAKN / SHE / HEIRS

b L% 37 -
Aluminum Body / Cross-Roller Guide / Wedge / Ground Screw, Ball Screw

MR

letsnpu

S10NPOId WSISAS B i~NISI\”

=S
ETES . ik
Model Number ZAO4A-WA1 ZAO5A-W1 ZAO5A-W2C g- A
BFEOERK g
e (Mt PTilaes ZAO4A-W1-R ZAO5A-W1-R ZAO5A-W2C-R =
F—7I)E
Table Size 40mmx40mm 50mmx50mm % <X
BHHR BE/OAO—SH (K % 2
Guide Mechanism Cross-Roller Guide b
A
R z
Motion Range +2.5mm +4mm *1.5mm 1
EOPES 1/2-5 %€, BHlI%, U—K 0.5mm 1/4-5%E. K—L %, J—K1.0mm = =
Lead Mechanism 1/2-Wedge, Ground Screw, Lead 0.5mm 1/4-Wedge, Ball Screw, Lead 1.0mm 2 z
TIWIN=T RFT 5
IR . Full/Half Step CLE AL i z
Resolution ™ | v44025v7 (1/205%) %
Micro Step (1,/20 div) Ditzsun
RERE o
Maximum Speed SRS g’ ﬁEIfi
R UAIEROIEE S
Repeatability =£0.5um i
OANE—>3> <
Lost Motion =2{m =0.3um
EEE o X
Vertically =4um/5mm =6um/8mm =5um/3mm % /(
KRR Epls
Load Capacity (Horizontal) 24.5N (2.5kgf) 39.2N (4kef) Z3
HHE FIIA B
Material Aluminum Alloy
e ELiaar s
Finish Clear-Matt Anodizing % >§
BE
Weight 0.23ks 0.42kg 0.45kg A
TS3664N16E2 (S E)IKEH: EiEEi d
SHEATVEVTE—5— PK513PB (AU IV &I E—%—: EI&ET 0.35A/1, EART Y7 0.72°, U—NREA) | 0.75A/1,EART V7 0.72°, U—NR5X)
5 Phase Stepper Motor PK513PB(Oriental Motor: Phase Current 0.35A, Basic Step Angle 0.72°, 5-Leads) TS3664N16E2(Tamagawa Seiki: Phase Current E
0.75A, Basic Step Angle 0.72°, 5-Leads) =
OB HF 208> (B0t RP13A-12JG-20PC) §
Connector 20Pin Round (Hirose: RP13A-12JG-20PC) @
Q
RF—IHEGEAT g
Stage Wiring Type *2 va v2
T EARRR F-113LMIT) F-106(HOME,LIMIT), B§=2L: F-106R(HOME,LIMIT) el
Sensor Model F-106(HOME,LIMIT), Mirror Model: F-106R(HOME,LIMIT) %.
it 1
Price(JPY) ¥145,000 ¥150,000 ¥220,000
AR s ¥42,000 ~ ¥48,000 ~
verhaul Price ® Z
IV =20\ AZ % = 1
Clean Room Lubricant Change Price = ¥30,000 ¥36.000 % jl\/
HESURSHRR £
Vacuum Lubricant Change Price = ¥30.000 ¥36.000 %
FEfE—2—H0E -
Same Size Motor Change Price 5 24
BEWE—2—THBE =3
Different Size Motor Change Price Z/‘
%1 AT =V OREFIN—TATY T TIT>THVET. ) =20 AEROBRKIEKREIC-CHHFEET ., FHMICDULTIZC-005 2
"~ Stage is inspected by half step setting. xa N—YERBRLTTE, 7|_
. AT — AR DB DOV TIEN-034.N-035% BB LT T, Clean room lubricant model has “-C” at the end of model number. Page C-005 >
*2 Refer to page N-034,N-035 for stage wiring connection information. for furfher information. B ?-,<’ %
F—/—A— VBICRRBRMREEFNE LA, BRSOV TRIEA—VE Ba7 | AHBOBARKRIC -V HRHERT. BlIICOLTIZC-0057%— £%
%3 BELTTFE, %5 ‘/’é':‘ﬁ‘/ml/_'(?éb\e - 3) 2
"~ Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-005 for 5 1.
further information. further information. % 7
E—X AL TEEEA.
It is impossible to change the motor. m O &
(o] y:
o MIEgHE—Z—3> bO—F - RTANCDVTIEN-002N—=TZBBLTTELY, FIEYIIZDVTIFO-001RX—2Z2B8B L TTEL, & g’ g
Refer to page N-002 for information on corresponding motor controller and driver. Refer to page 0-001 for information on accessory. % - =
w

o ST BE—Z =T —TINIDVTIEN-018RX—=J 7 BB L TTEL.
Refer to page N-018 for information on corresponding motor cable.

PEBRDCRLICK ) HADBES A ET,
FLUSIREERBETBHOEDET .

We appreciate the product customizing. Contact us for further information.

BEAVLADEIE*TEL:044-981-2131,/FAX:044-981-2181 [E-mail]sale@kohzu.co.jp [URL]http://www.kohzu.co.jp

S81I0SS800Y
—FRNN

&>
o 3
o @
32
o
=]

%
=
¥
2
2
L

(o)
S
~



